X1 a7 'on R, peTp L1702

Quoting Rashi; It is understood — NI 2"w b

Overview

The x7n3 asks how will 21w 27 explain the Xn»12 (since it does not mention a case
of "WIpNi "WIpN; only 121 11121 PR WTPNT or 1982 %2 *wTpn). The s'kna question
comes after X271 made his ruling (and it was supported by a Xn>72). It may seem that
the following question is based on s'®21 ruling.! >"w (and '01n) rejects this.
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We are not challenging 829, but rather the X713 is referencing a previous X772 -
$NOYON N 2299 NYIIN INP INIIYI 299 1PN01T NIIN NNNT 1I89NNY

Where we explained that the case of n®2IX 17n°7 in our mwn, is referencing the

X1 according to ®Xw 29, and according to K''1 it is referencing the X%, The
X7n3 asks that the Xn*92 is understood according to X", but not according to XMW 2.

Summary
There is no question on 827 (only on HX1Mw 27).

Thinking it over
How could we even imagine that the question from the Xn*2 is on 821?14

! See “Thinking it over’.

2 X2 stated (on the top of this 71v) that the exclusion of n931% 707 (which requires a nNnR2 5"1w) is only if he said 12
131 1123, however if he said 19X2 then it nw7pnn 5" W 19152 W OX.

3 X, M (after the mawn).

4 See 7m0 wIon X # 57.
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